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Exercise set 0.4 :

Exercise set 0.4:

1,3(a,b,c,d, £)9,10,11,12,13,17,18, 19, 22 p.44-45.




1. In(a)—(d), determine whether f and g are inverse functions.

(@) f(x) =4x, g(x) =4
(o) (X)= £(F ) MT =4 (%)= X

(GoP)X)=9(F )= 9(4x) = +(4X) = X

‘* +and 9 are inverse wcun,ctlon.

(b) f(x)=3x+1, gx) =3x —1

(+od)(X) = F(I ) = F (3% _1)

_3(3x_1) 4 1 =9x_3 4|
—9IX_2

?amd 9 are not inverse 1Cun,ction,



©) fx)=x—2, gx)=x>+2
(Fod)(X) = F(FOX) (X4 2) 20C+2)_2

VX =X

(Fof)X) 9= 9 X2 ) x_72 ), 2
_X_2.2
DS

‘“fand 9 are inverse function

d) fx)=x* gx)=Ix

(Fo9)(X) = £(I00) _ (V) _(7X) _ %

(Bof))_9(F )= 9O ) - ¥ %

« +and 9 are inverse -\:umction,



3. Ineach part, use the horizontal line test to determine whether
the function f is one-to-one.

(@A) f(x)=3x+2

one 'ho one Lanc Xion

X [ ¥=3xx2 | (OX,Y)
_2 [3(=2)+2
=-4 (-2,-4)
-1 131 )+2
=—‘ ("‘J—‘)
© |3(o )+2
=2 (OJZ)
|13 1 )+2
. = (' ,5)
3(2)+2
=3 (2,3)
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(b) f(x) =vx—1

X [ Y=vyX-1 (OKLY)
| Wi-1=o0 (\\Jo)
2 VZr=T=) (2,1)
3 Mzor=v2=la| (3 .,14)
4 |Va-T=z=17] (4 |7)
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(©) f(x) = lx|

X [ Y=fo=Ix1] OK,Y)
2 12122 |(2,2)
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(d) f(x)=x’

X [ Y=f=x"] (K.Y
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(f) f(x) =sinx

y: SiInvK

S]ﬂ:k—-‘,_-Tl'): |
S.Iﬂ:kTI')z Qo

Sin(2w)=0
S.W\:(%_'W):—‘
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9-16 Find a formula for f~!'(x). m

9. fx)=Tx—6

Y_7x_¢

Vi€ —7X

X_ Y46
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(X)Xt
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x+1
x —1

10. f(x) =

Y_ X+

X—|

YOX— 1) = ( X+ |

YX_Y - X+ |

YX_ X _Y +|

XY —1)=Y + |




11. f(x) =3x>-5

Y-3X_5

Y+5 3%

X—_ Y45
3

§\! X3 :3/ y"‘i
v 3

X —3/ Y+ 5
v 3

i I()’)— 3/ Y+ 5
v 3

(x)— 3/ X5
v 3




12. f(x) = J4x +2

Yo V4%, 2

)\ ax 2 )’
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x <0

13. f(x) = 3/x7,

Y X®
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17-20 Find a formula for f~'(x), and state the domain of the
function f .
17. f(x)=(x+2)* x>0
4..
Y_(X+2)
4 4
\/7=7(X + 2 )
VY= X+2
X =Y _2

f"(x)z‘ﬁ_ 7}

Domaing

D;"=E0)+°<>) becawse th e Condition RK>0



18. f(x) =/x 13
Y X+ 3

Y WXz )

Y X+3

X =Y 3

X3

Domaing

Di= X+32>0 - KX > _3_[3,+)

Roandeg

X 2_3_KA+3 2_3+3__,X+3 >0

VX+3 >2J0 _ VX433 > 6 _ ,[o,+)
R¢=Df'=Lo,+e0)

De'= Lo, 4e0)



19. f(x) = —/3 — 2x
Y—_N3_9X

VI V3OX)

Yo 3 9%
Y 3 Z 9%

Y_ Y 3
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fT(x)= _X_3
2

Domain g

Dp=3_X >0 _, 3 22X _ X<L3 _ (0, 2]

Rondeg

X2 L O%L 3 2% 3L 2.3

[2X_3< Vo ,[2%X_3< 0 (==, 0]
R_g: D4"=(—m,o __‘

D_f': (—"0: O —_‘



- 21-24 True-False Determine whether the statement is true or
- false. Explain your answer, =

22, If f and g are inverse functions, then f and g have the same

domain. U__)
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